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QUESTION 1

Why should Asset Filters be set up when using Dynamic Media for video-only deployments? 

A. To make sure proper ACLs are set on videos on AEM publish instances and available for anonymous requests 

B. To encode all unsupported video formats via FFmpeg and deliver them to Dynamic Media Video Service 

C. To ensure all supported video types are deliverable by AEM publish instance when they are requested 

D. To allow AEM publish instance only to deliver the video poster image and metadata required for playback 

Correct Answer: D 

Reference: https://helpx.adobe.com/experience-manager/6-3/assets/using/config-dynamic.html 

 

QUESTION 2

For which two reasons should a developer avoid changing the ExtendScript library in the Media Extraction Step?
(Choose two.) 

A. The library provides permissions to InDesign Server to generate renditions for INDD files. 

B. The library implements event listeners responsible for renditions generation by InDesign Server. 

C. The library provides communication functionality between AEM and InDesign Server. 

D. The library is responsible for creating different renditions under the INDD file uploaded to DAM. 

Correct Answer: AC 

Reference: https://helpx.adobe.com/experience-manager/6-3/assets/using/indesign.html 

 

QUESTION 3

A package is exported from one AEM server (Server A) using the following filter.xml file: 

This content package is deployed to another AEM server (Server B). 
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Which two results occur? (Choose two.) 

A. The contents of the subtree /content/dam/foo from Server A replace the existing contents of /content/ dam on Server
B. 

B. The contents of the subtree /content/dam/foo from Server A are added to the existing contents of / content/dam on
Server . 

C. The contents of the subtree /content/dam/bar/foobar from Server A replace the existing contents of / content/dam on
Server . 

D. The contents of the subtree /content/dam/bar/foobar from Server A are added to the existing contents of
/content/dam on Server . 

Correct Answer: BD 

 

QUESTION 4

A developer is asked to programmatically retrieve the total number of all the assets exist under the /
content/dam/myfiles repository. The developer uses JCR SQL2 writes the following query. 

While executing the query, the developer gets an error, 

Repository error: javax.jcr.query.InvalidQueryException; 

What can be causing this error? 

A. The createQuery is not receiving the correct parameters. 

B. QueryResult does not have permission to query /content/dam/myfiles. 

C. SELECT * FROM dam:Asset should be SELECT * FROM [dam:Asset] 

D. ... dam:Asset WHERE ISDESCENDANTNODE(\\'/content/dam/myfiles\\') should be dam:Asset WHERE
ISDESCENDANTNODE("/content/dam/myfiles") ...; 

Correct Answer: C 

 

QUESTION 5

A developer is trying to update the existing translation_rules.xml to update some translation rules on a node (node_X).
In a nodelist element, the developer finds multiple rules targeting the same node (node_X). The developer then adds the
new rule at the bottom of the list. 
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What is the outcome with this new rule introduced? 

A. This newly introduced rule overwrites translation rules. 

B. An error occurs when the translation rules try to be used on the node. 

C. The translation rules stay unchanged because the first rule on a node is always used. 

D. A warning message indicates that translation behavior will be unpredictable. 

Correct Answer: C 

Reference: https://helpx.adobe.com/experience-manager/6-3/sites/administering/using/tc-rules.html 
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